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Sociology

Paper II

HHISTIMTE
QoateRt 11

Time Allowed : 120 Minutes]
Note

[Maximum Marks : 200

: This Paper contains Hundred (100) multiple choice questions. Each question

carrying Two (2) marks. Attempt All questions.

U 3TRA. W UEA dredl

: I YETUAR TS THU TN (100) TgIART Y9 ol sed. Yoo WeAen g (2)

Which of the following statements

about honour killings is not

correct ?

(A) Are different from dowry deaths

(B) Are not recognized by law

(C) Are mostly directed against
women

(D) Occurs in South Asian countries
only

Two statements are given, one is

labelled as Assertion (A) and other

as Reason (R) :

Assertion (A) : Reservations in

jobs help the SC, ST to improve their

situation.

Reason (R) : In a democracy equity

is a must to ensure equality.

Select the correct answer from the

codes given below :

(A) Both (A) and (R) are correct and
R is the correct explanation
of A

(B) Both (A) and (R) are correct but
(R) is not the correct explanation
of (A)

(C) (A) is true, but (R) is false

(D) A is false but (R) is true

SR foRfeTen Teuia Eefierieh! FIvw
ECIERCHE I |

(A) BT TeIUel ATMes 3T

(B) Gl H AR

(C) 9gdsh daa foAfaes oT&d

(D) haed iU AR I9MHE Ted

Trel 9 fagm foef omRd. T STE
Jfaued (A) ST TR e &R (R).
YfaurgT (A) : TedHdd  STRETIM
STEfad S-S et gfefeerdt
YURUIEEST Ted B

HIUT (R) : TAhIMEHEN FHMC ST
IS GETET 9eY OIS IR,

Gl HohdlshlUeh! SIS 3k fael :
(A) (A) 3701 (R) Sl sRIeR 3ATed 10T
(R) ® (A) 9 4rg TR0 TR,

(B) (A) 3Tfr (R) Sl SeR 3TTed 90T
(R) ® (A) = Irg TqIh{0 TR

(C) (A) TR ¢ g (R) I T2
D) (A) I 3R W (R) TR TR

[P.T.O.



Which of the following books is not

written by K. Mannheim ?

(A) Diagnosis of Our Time

(B) Structures of Thinking

(C) The Sociology of Knowledge

(D) Conservatism

According to Durkheim what is the

subject matter of Sociology ?

(A) Social Facts

(B) Social Actions

(C) Social Systems

(D) Social Patterns

Which of the following is not true

about the sample units ?

(A) Sample units must be chosen in
an objective manner

(B) They must be independent of
each other

(C) Once selected, they cannot be
discarded

(D) They must be interchangeable

Who among the following

propounded the Alliance Theory ?

(A) A.R. Brown

(B) Claude Levi Strauss

(C) B. Malinowski

(D) F. Meyer

Which one of the following

statements is not correct ?

(A) Ethnomethodology examines
the ‘folk’ methods

(B) Ethnomethodology challenges
existing concept of objective
reality

(C) Ethnomethodology uses
interpretative approach rather
than normative approach

(D) Ethnomethodology emphasizes
on study of macro structures in
society
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WeAeTeh! I &ieh oh. TREH AT

foafeett wmd ?

(A) ST S STeR =Y

(B) wa=d oA ffehm

(C) < AfreArarst 1w Ao

(D) FH=R (A

e A=A A HHISRIEATE ST s

T AT ?

(A) GHISe qd

(B) g foran

(C) HHIfSIeh =ereel

(D) | 9y

THAT TShehTTaoRN TITeieTish hIvNd faem

SR AATE ?

(A) SIS QY T Teheh fHered
Tifesia

(B) O ThHHER STEcied THed

(C) Thel o @ § ® &% 34

(D) =t STSeAEGe Hidl ATl drfgst

It fagia welietisht wIol "gar ?

(A) T 3R FSA

(B) Fife dRI-RS4T

(C) <it. Hfemriegwnt

(D) TH. #X

EATIdeh! hivd faem sie) AméEr ?

(A) TRISHARTE ' eliechugerdi=’ qiequ
H.

(B) RUSHHIRIE SsS SRded=Al
AN Feheudal 3TeeM <.
(C) ATHIEGIRET A9 ATHS

gftemmast Taends gitesmmm
R Hd

(D) NHICHAINE AT qHY
AT A Hewd ad-




10.

11.

National policy on older persons was
announced in India in which year ?
(A) 1996

(B) 1997

(C) 1999

(D) 2001

Who understands actions in terms
of the subjectively interpretative
meaning of Social Action ?

(A) E. Durkheim

(B) V. Pareto

(C) T. Parsons

(D) M. Weber

“The process by which actors fail to
recognise that it is their labour that
gives the commodities their value”,
is termed by Marx as :

(A) Fetishism

(B) Emancipation

(C) Socialism

(D) Contradiction

The process of inculcation of
norms, values and culture is
known as .......ccceeeriinennn. .

(A) Secularization

(B) Sanskritization

(C) Socialization

(D) Westernization

10.

11.
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I T YRAT TRREESE TR
gRUT SR S ?

(A) 1996
(B) 1997
(C) 1999
(D) 2001

TS Faran Y SAfFITS ST
I TSI el TS SUAHIS! vt
(A) 3. Em
(B) =I. Wl
(C) 3. U=
(D) TH. I

"1 gfshae SRl Tl SN WA
AR S A AfhAe
...................... 31@ W'

(A) TEEH

(B) kil

(C) HHISER

(D) faienyms

THIUTR, Fed ST W&ahd! AR foa-

JUIT=A] Hrq')a(’“ .....................

e S

(A) TRt
(B) HEHeThI
(C) FTHTISTehTeRuT
(D) AT

[P.T.O.



12.

13.

14.

15.

Which one of the following measures
of central tendency is a positional
average ?

(A) Mean

(B) Median

(C) Mode

(D) Both (A) and (B)

K. Mannheim distinguishes between
two types of ideologies. Which are
these two ideologies ?

(A) Total-conception and Partial-
conception

(B) Democratic and Authoritarian
(C) Egalitarian and Non-egalitarian
(D) Radical and Conservative

Who wrote about ‘Death of the
Social’ ?

(A) Cooper

(B) Foucault
(C) Merton
(D) Baudrillard

Who argues that myths can be a type
of speech through which structural
principles could be discovered ?

(A) A.R. Radcliffe-Brown
(B) P. Bourdieu

(C) M. Foucault

(D) C. Levi-Strauss

12.

13.

14.

15.
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WU IV HITT § hed Jgai]
T T A8 ?

(A) |&F

(B) weAlsh

(C) &gt

D) (A) = (B) <=

. H8IRH T YehT=a fo=amyumetidial
fay=an <vifedr. < femmyomedt v ?

(A) THY Heheud ST SAif¥Teh Gehodd
(B) wheTRIamGl il Selehtrenat

(C) HHdmEE! 3for foomdremet

(D) STeTel 3AIfUr FHaH!

‘U Iiw < HEta' ArfasAl iUl
fafea ?

(A) PR

(B) Feh!

(C) w&H

(D) ifgen

e & T YehTT=l SIT0f 3T IThd i
ST HISHIQT SaAcHs dearal Y
Bqel ST Yokl 319 fqare hioft shal

e ?
(A) T 3R (SfTh o
B) 9. Td

(C) TH. el
(D) & wed-wy




16.

17.

Match the List I with List II and
select the correct answer from the
codes given below :
List I (Thinkers)
(@) A. Radcliffe-Brown
(b) B. Malinowski
(¢) T. Parsons
(d) R. Merton
List II (Perspectives)
(1) Cultural Functionalism
(2) Analytical Functionalism
(3) Empirical Functionalism
(4) Structural Functionalism
Codes :
(@ b)) @ (@
A 2 B QO @
B 3 @ Q) @
< @ 1 @ 3
DO @ QO B @
Match the List-I with the List-II and
select the correct answer from the
codes given below :
List I
(Sub-systems)
(@) Law
(b) Family
(¢c) Economy
(d) Polity
List II
(Functions)
(1) Adaptation
(2) Goal attainment
(3) Integration
(4) Latency
Codes :
(@ ®) () (@
A 2 1O @ @O
B B @ @ @
< 3 @ @ @
D @ @) Q) @

16.

17.
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Iqret I 31for et 11 Hefted SeehT=AT Sired

[ & e foeiean Hondiehiq A
= el

Trdr 1 (foamea)

. ¢ AN a

HATATSERT

e
adt I (3feent)

(1) TEhidh JhrEaR
(2) TaveToOTcHS: YehrdaTg
(3) eTgwaTHfad Fehreare

(4) FEARHS YRR

(@) T
®)
(c)
(d)

& 2

(@ B () (@@
Aa 2 6 O @
B 3 @ 1 @
@ 1 @ 3
D @ 1 3 @
Tre! fedd 99 1 ofrfor 1T Sesa
3T feeiel Hondieh &I B 3Tgeh 3l

ferer ¢
IC{ |
(3U-U5a)
(@) =13t
(b) h2d
(c)
(d) TTHRIR
et 11
(=)
(1) ®IW®

(2) <& YT
(8) WUl

(4) 7w
A

(@ b)) © (@
A @2 @O @ O3
B B @ @ @
< B @ @O @
D) 4 @) 1) (2
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18.

19.

20.

21.

22.

“Glass ceiling” is the term used in
the context of :

(A) Occupational gender segregation
(B) Women’s promotion

(C) Job insecurity

(D) Emotional labour

Respondent’s name is changed
but location is not changed. This
suggests .....ocevueeennn. .

(A) Breach of faith

(B) Breach of morality
(C) Breach of anonymity
(D) Breach of promise

Which one of the following is not a
part of post-modernism ?

(A) Progress, universalism
(B) Chaos, difference

(C) Fragmentation

(D) Representation

Fordist organization is characterized
by :

(A) Standardization of commodities
(B) Decentralization of labour

(C) Flexibility

(D) Tailor-made goods

Irawati Karve has divided kinship
organization into ..................... .

(A) Two zones
(B) Three zones
(C) Four zones

(D) Five zones

18.

19.

20.

21.

22.
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“FEE B E Hehe {gllcfl“lc:iﬁeh"l
................... o Heie SRR S,
(A) TATIETER eEmE fayeRiteso
(B) o= ugi=d

(C) =i sTefagean

(D) 9EH® 9|

SRR P b e e,
(A) fogammen de1 o

(B) Hfdehaen aer Sl

(C) SFTHehde TS ]

(D) AT

ETeeTeh! IV STy fTeRIaRaTETET N

& 2

(A) W, FEAhdag
(B) ¥, 9%

(C)

(D) wfaeao

(A) IaTqd TEE FHTOTRI
(B) M faehgiena
(C) wdfaehdr

(D) YIARgHH I
. . N
AT hd AT ATAGS e

g faursm el e ?
(A) <9 &
(B) a4 &3
(C) IR &
(D) U= &3

[ [a)

[endl




23.

24.

25.

Given below are two statements, one
is labelled as Assertion (A) and other
as Reason (R) :

Assertion (A) : Ambient air quality
of Delhi is deteriorating day by day.

Reason (R) : Stubble burning in
Panjab and Haryana affects air
quality in Delhi.

Select the correct answer from the
codes given below :
Codes :

(A) Both (A) and (R) are correct and
(R) is the correct explanation
of (A)

Both (A) and (R) are correct
but (R) is not the correct
explanation of (A)

(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

Which of the following methods has
been used by C. Geertz ?

(B)

(A) Participant observation
(B) Systematic observation
(C) Thick description

(D) Systematic description

H. Garfinkel’s work is associated
With coeeeieiiieeeee, .

(A) Conversation analysis
(B) Content analysis
(C) Discursive analysis

(D) Discourse analysis

23.

24.

25.
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et g faum foerel smea, T wfaaes
(A) =TT TE HRO (R) HaEa 3R,

gfaurega (A) : feerdfee foeef=n
ST ga= orel s Bid 371,

HIUT (R) : Uog 371 sfRamomed
SMBvATd R =T G et = goe)
TR .

Gedtel feetesl Hehdiehr=a R 3Th
I fere

(A) T (A) 37T (R) § SR 3Tred 3T
(R) ¥ (A) 9 e TEIHT 3R

(B) =T (A) =701 (R) § SRIsR 37,
g (R) ¥ (A) ¥ a0 Sl Al

(C) (A) § SR 3% (R) & Iehial 3TQ

(D) (A) & gHE 3T T (R) T SRR
3

T, et A WTeieTishl ShIvT UgErr=n

IR Hell A8 ?

(A) Tewrft ftero
(B) geHafte e
(C) T=F 9uH

(D) gFateom guid
(A) Fumoor fagerso
(B) smera fageso
(C) =1 fagersm
(D) Gefo forgersm

[P.T.O.



26.

27.

28.

Gandhi’s notion of Antyodaya
refers to :

(A) Welfarism
(B) Assimilation of Harijan
(C) Inclusion of Harijan

(D) Rights to the bottommost
section

“Neoliberalism and rise of neo-
fundamentalist movements are
two sides of the same coin.” Who said
it ?

(A) M. Castells

(B) D. Harvey

(C) S. Sassen

(D) P. Bourdieu

Match List I with List IT and select
the correct answer from the codes
given below :

List I (Authors)
M. Foucault
A. Giddens
J. Habermas
P. Bourdieu

List II (Concepts)
Duality of structure

(@)
)
(c)
(d)

1)
(2)
3)
(4) Ideal-speech situation
Codes :

(@)
(A (1)
(B) (4)
©) (2
D) 3)

Practice
Episteme

(b)
(2)
3)
(4)
(1

(c)
3)
2)
3)
4)

(d)
4)
(1)
(1)
(2)

26.

27.

28.
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e ST gl
e =i
(A) ARG eATUER

(B) == wwie

O ISEERIGIRIETY

(D) e qa3=A1 SIEehlcll &k <01

TISIRATAG & AT erdcaaR] c{ooqoé\itu
3CT B ThTd AT0ITA] STS] 31T,
T R WA ?

(A) TH. H=cd
(B) . @l
(C) TH. |EA

(D) . 94
ISt 1 A0 AT I Sesan ST @t

feciedn Hehdieh™Y ard W eel -

et I (Eh)

(@)
)
(c)
(d)

ENEY

EE
ESS
RELeeies)
i

et IT (Hehed)
IR
HITR
(3) TfueH
(4) oTeE TSTOTTEeRT
Hehdiah :

(a)

(A) (D
(B) (4)
©) (2)
D) 3)

(1)
(2)

(b)
(2)
3)
(4)
(1)

(c)
3)
2)
3)
4)

(d)
(4)
(1)
(1)
(2)

10



29.

30.

31.

32.

“Episteme” is .......ccccvvvveeennn.

(A) Socio-historical method to
analyse impact of power on
discourse

(B) Analysis of archeological forms
(®);

Unidimensional understanding
of pre-existing codes

(D) Framework of knowledge that
shapes discourse and helps in
specific understanding of the

world
Which of the following is a

characteristic of qualitative

methods ?

(A) Emphasis on the exploration of
meaning

(B) Emphasis on the precision of
data

(C) Emphasis on the exploration of
generalized central tendencies

(D) Emphasis on researcher’s
objectivity

Confidentiality does not

MEAN ...ccvvvreernnnnennn .

(A) Changing names

(B) Anonymity

(C) Protecting identity of
respondants

(D) Funders will have access to

respondants

The farmers’ movements by the
middle peasantry are mainly
concerned with ....................

(A) Redistribution of land

(B) Equal share to sharecropers
(C) Fair price for crops

(D) Getting rid of the middlemen

29.

30.

31.

32.
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‘i U
(A) o= HUISdier TSum=ar GYTem

TITASOT SO FTHTTSIeh - Ufderiaed

(B) QUaaG! SRR fowerso
(C) Y& fomrm Herdre ThaTTH! STehat

(D) = favie T dvaen Hed
FHLO Ao S=ifavarar AR
TR FETE e

EeATTdR! T[OMCHe Tgdrd AfeTee]
HUM 2

(A) 27 TMYTGER W

(B) TEATAT TR X

(C) HH=IThd HEAY TNTIER ¥R

Pk I Y
(A) T wEer

(B) FIHR

(C) wfoaRr=t e wXfa@ o
(D) wrESTshTen Wfadreiaedd g 0
TEH A=Al STafaele ah=-ars]

BB AT I Fafyd
3TR.

(A) SIfH= gateq

(B) Wedh=a gaH feem

(C) fuemren arset fohma

(D) AEIEY X

11
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33.

34.

35.

36.

When was the ‘National Cyber
Security Policy’ enacted in India ?

(A) 2007

(B) 2009

(C) 2011

(D) 2013

Ethnography implies :

(A) People are meaning makers
(B) Objective study

(C) Research people

(D) Proximity of researcher

Which was the report published by
the ‘Club of Rome’ in the context of
rise of green movements public
concern about environmental
problems ?

(A) Our Common Future
(B) The Limits to Growth
(C) Sustainable Development
(D) Green Peace

Which among the following is not
among the core objectives of India’s
Forest Rights Act, 2006 ?

(A)

Recognition of community forest
rights

(B) Securing livelihood of the forest

community

(C) Empowerment of local self

government

(D)

Empowerment of tribals

33.

34.

35.

36.
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‘Terd AR SHRIREl dictEl’ ohel

i el ?

(A) 2007
(B) 2009
(C) 201
(D) 2013

(A) @ik 1= A
(B) o&fT3 T

(C) TreRieR HeeA

(D) weieshrEt Fehean

TSROl GYATTS/eleh STTuTel
I Teledn (fed) W TS
Teula o i IF WeRIRTa Sheten
et U ?

(A) e HET F

(B) T foieq 2 Wy

(C) &R SRATHS
D) W= 1=

Eeiereh! v HE] YRAMT 99 83
FHAST 2006 =T A IfEUehl &N ?

(A) WTRII a9 SaRRTAT STl <Ol
(B) o HHSTAT SUSHachel St <ol
(C) e @RS TEUMT dohel ol

(D) 3MfcarE™a Haleohiul SHo]
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37.

38.

39.

For which one of sampling types
lottery method and Random
numbers are used for selecting the
sample ?

(A) Cluster sampling

(B) Multi-phase sampling

(C) Quota sampling

(D) Simple random sampling
Which of the following is not the
characteristic of informal economy ?
(A) Flexibility

(B) Casualization

(C) Homebased work

(D) Collective bargaining

Which of the following is not
analyzed in post-modernist
research ?

(A) Chaos

37.

38.

39.
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el gt Ao Ak a1 THAT Teheh
FMegr=n F Ugdl @efietieh] hIore
T TS UgdMed eRd ?

(A) gsrep1 Tae o

(B) dg&a fee ugd

(C) =l Hae gl

(D) Wes Aok T o€ gl
TR IV SHITETRE STefeqaed
EINEO G |7

(A) afaehdl

(B) AT

(C) =IqeA HH

(D) Hfeeh Q@S

S TehIcRaTsl HYNEAd  SIeerdeh]
FHITE favemu el S| OAEr ?

(A) Ty

(B) Gaps and silences (B) R 9 4
(C) Continuity (C) I
(D) Fragmentation D)

40. In an unstructured interview sTeh ﬂ?‘T@?ﬂﬁ ..........................
....................... also need to be 40. N =
interpreted. SETe 31 .

(A) Photographs (&) SEMT=
(B) Reports (B) stearet
(C) Silences and pauses (C) ricar 3frfor ferr
(D) Scales (D) STFAETIT

41. Whose work among the following | 41. w@reicUs! SI0TE &M @éqmm “TER
focussed on the “household dimension” .a?in = Fha oM 2
of the family ? (A) W S
(A) Pauline Kolenda
(B) S.C. Dube (B) TH. W T
(C) K.M. Kapadia (C) oh. WH. HUmEA
(D) A.M. Shah (D) T TH I8

13 [P.T.O.



42.

43.

44.

How ‘Forest Rights Act 2006’
defines ‘Bonafide Livelihood Needs’
of tribals ?
(A) Fulfillment of livelihood needs
of kinship groups
Fulfillment of livelihood needs
of self and family
Fulfillment of livelihood needs
and market needs
Fulfillment of basic needs of all
tribal groups
Match List I with List II and select
the correct answer from the codes
given below :
List I (Thinkers)
Vandana Shiva
Flavia Agnes
Bina Agarwal
Renana Jhabvala

List II (Issues)
Gender and Law
Women and Work
(3) Eco-feminism
(4) Gender and Land Rights
Codes :

(@) (b)

A 1 @
B) @ 3
< 3 1 @ @
D 2 @ @O O
Who is the author of the book “The
God Market : How globalization is
making India more Hindu” ?
(A) Devdutt Pattanaik
(B) Karen Armstrong
(C) Austin Neill
(D) Meera Nanda

(B)

()

(D)

(@)
)
(c)
(d)

(1
2)

(c)
(3)
(2)

(d)
4)
(1)

42.

43.

44.

JUN - 14220/I1—D

"o BeRh WhIFa1, 2006 HEA * SrfarEi=

Tdfoeh ISttt Tsn’ et Fuffa

hefl 38 ?

(A) STHHE=AT IS forehT TS el

(B) A=A ST =l SUSHIS
TR i

(C) 3usiifasht 3MfU1 ISR TRSA= el

(D) ¥& STfCamE e Jayd Tt
EGill

It 1 e7for At 11 =0 Siedn e

ST et feeiesn HehdiehMYd Fd 3T

fere

et 1 (fa=amae)
e fRran
(b) AT Y
(¢) o STRa™
(d) T SEaTe

rdt I (9997)
famama smfor s
2) T enfor ™
(3) THTERUT HHiaK|
(4) femyma snfor 9 &5
Hehdieh :

(@)
A) (D)
B) @
©c 3 1 @ @
D 2 @ @O @)
" TS ATehe : BT TAECIIRT $91 HichT
sfear #R feg” o1 gwao™ Tee &
Sed ?
(A) JIET AR
(B) RA i
(C) offfes e
(D) =1 e

(@)

(1)

(b)
(2)
3)

(c)
3)
(2)

(d)
4)
(1)
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45.

46.

47.

48.

49.

According to which sociologist,
‘rituals are sacred acts which
represent the religious beliefs’ ?
(A) Max Weber

(B) Emile Durkheim

(C) Edward Tylor

(D) Gerhard Lenski

The Dispersion of the Indians
beyond India is an example of :
(A) Diaspora

(B) Culture

(C) Habitus

(D) Network

Which one of the following is not
used as a measure of Gender
Related Development Index ?

(A) Life expectancy at birth

(B) Adult literacy rate

(C) Earned income

(D) Participation in work-force
Possession of attributes, like human
nature, agency, self-awareness
among other is defined as :

(A) Personhood

(B) Personality

(C) Embodiment

(D) Entitlement

Human Development Index (HDI)
measures the level of development
amongst various countries includes
the following set of indicators. Mark
the right answer :

(A) Health, Education and Income
(B) Freedom, equality and fraternity
(C) Equity, social justice and liberty
(D) Openness, freedom and equality

45.

46.

47.

48.

49.

JUN - 14220/I1—D

hIUTCT HHTSTYITESIRITSA Hd, * S 41 379m
qferst foran S1aard ot <1 enfies fasaam
gfaffaea waa’ ?

(A) T deR

(B) sl geei™

(C) TEa€ TEeR

(D) TREE TI=eh!

IR IRATTe. FERT 9§ ham
IR0 AR ?

(A) TRIRY AMRE

(B) H&pat

(C) gfeeH

(D) St

Weteden! vt Tee femyme fawees
frdemere HiemTa E 2

(A) Sr=aTEE STHUR STufar g
(B) Wie drerdl X

(C) THaao™ 3ca

(D) STHRKITI YR

et T, Sha g, 3TcH SRRl ST
A T[0T AT 0 q1F k1A WU ?
(A) Al

(B) e

(C) TaeT®d

(D) TR

WAkt v ST e fafay
T foehTar=a W Qg et
faerr fAdemer (HDI) sXad ?

(A) R, fago sufor 3=

(B) @G, FHMA 3T Fge

(C) HHal, gHIfSTeh =qd S0 T&a=a
(D) HIHSUN, TG 0T FHHE

15
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50.

51.

52.

53.

Which of the following is not the
characteristic of bureaucracy
according to Weber ?

(A) Specialization
(B) Flexibility
(C) Impersonality
(D) Hierarchy

Social networks can be described
as :

(A) Set of nodes and a set of ties
that connect some or all of these
nodes

(B) Social groups with defined

boundaries

()

Connections among individuals
overtime which result in social

bonds
(D) Informal organizations

Elite theory of power is developed
by :

(A) Pareto V.
(B) Parsons T.
(C) Engels F.
(D) Miliband R.

Which of the following statements
is not true about a custom ?

(A)
(B)
()

Custom is flexible
It is specific and clear

It emerges spontaneously
without any direction

(D) It needs a specialized institution

for enforcement

50.

51.

52.

53.

JUN - 14220/I1—D

AR, TTATAIRT HITAT FH

TrenteE dfvres @ ?

(A) fogrsitenon

(B) wafaehal

(C) Torfertehar

(D) TS

TS T9TA (Social Networks)

BN

(A) Tefi=n ¥ STt qeem=n 94, S
el Tohdl Td T2k ThHHIN Sed
AT

(B) ff¥=a dwr otdelel | TTe.

(C) Tl 3™ HaY S hicd
TIfSes SeAmed gRafdd e,

(D) A= e

(B) &= .

(C) Ted TE.

(D) faeiee 3T

ETeleTdeh! i fasm g el

T @ ?

(A) 91 T @afash 3Ted

(B) ve fafyrse snfor wose sverard

(C) w=T 3T 3 o e g5
Brdl

P STHATSTAVTHTS! T L=

(D)

16



54.

55.

56.

In Sociology comprises the

social assets of a person (education,

intellect, style of speech etc.) that

promote social mobility in society.

(A) Cultural capital

(B) Professional capital

(C) Economic capital

(D) Symbolic capital

Symmetrical family refers to ..........

(A) Family transforms from joint to
Nuclear family

(B) Men are taking up family

responsibility

(C) Overtime, families becoming

in the

distribution of roles

more egaliterian

and
responsibilities

(D) Only women still continue to

bear family responsibility

In which census year data for slum

was collected for the first time in

India ?

54.

55.

56.

JUN - 14220/I1—D

TSR TSI e TiqHeeTel aret T
............... S Y N — -
TrerErn (e, gfgmm, St ugd
3.) HHEY Bl

(A) Uipfas iedd

(B) SEdIgE Wiead

(C) enfef wiead

(D) Wichfceh wigaet

mﬁ_cﬁq @. .................... %, a.s.faﬁ‘

(A) Fa™ THA TSAhed hedlhe
HhH

(B) Q&9 Sheamial SemeRral ThRd
e

(C) Feadiad Semegral S iy
foraXor FraEE! B ST

(D) wfear™ STS[AE HIEfaeh SAEEE
IR TrEd 3ed

IRATA SRV ST FoTITEA dfgea

gueuedl fase mifedt Hehfad v

et 2

(A) 1991
(&) 1991 ®) 1981
(]CB) 1981 (C) 2001
ED; 3321 (D) 2011
57 ﬁ% \_yrl:“—Cﬁ .q.]. .................... J%-UE@
57. Denotified tribes are also known
as 3i|3'c7!| SIGIGE
(A) Weavers (A) foureRy
(B) Ex-criminal tribes (B) geisr=an RN S
(C) Untouchables (C) I¥T
(D) Scheduled tribes (D) ATYr=d STHTI
17 [P.T.O.



58.

59.

60.

Match List I with List IT and select

the correct answer from the codes

given below :

List I (Authors)

Patricia Uberoi

Karuna Chanana

Pauline Kolenda

Leela Dube

List II (Books)

Women and Kinship

Regional Differences in Family

Structure in India

Interrogating

Education

Family, Kinship and Marriage

in India

Codes :
(@)

(A (1)

(B) 4)

< 3 1 @ @

D 2 @ @O 3

Widowhood reflects a structure of

control over all aspects of woman’s

life including her sexuality. Whose

views are these ?

(A) Maitrayee Chaudhuri

(B) Karuna Chanana

(C) Martha A. Chen

(D) Veena Das

Which project has been initiated by

the Government of India for creating

a cloud computing environment at

National level ?

(A) e-Bharat

(B) Megh Raj

(C) Project Arrow

(D) e-Kranti

(@)
®)
(c)
(d)

(D
2)

3) Women’s
4)
(d)

4)
(1)

(b)
2)
3)

(c)
(3)
(2)

58.

59.

60.

JUN - 14220/11—D
et 1 31for Iet 11 7eiiel Seshr=a Sire

(el & e foeiedl Hondiehqd A
T feer

1 (@)
qfIsT STeRfa
EXEIECIEEI
EIGIERCANE)
feren g=
g 11 ()
foim sfug fhei
e ety 39 ®iel TR
= gfem
(3) SREN faid Tsgehy™
(4) fhed, freiy st W& =9 sfean
Hehdleh :

(@)
(A) (1)
(B) (4)
© 3 1 @ @
D 2 @ 1O 3
Jyeg FEsom=n oTeft WX gfed &
T = <ifiTehd 98 Sie STgsar=
Hd 915 IO 3[d. § foer s
FRd ?
(A) TR e
(B) =heum =l
(C) Tt T =A
(D) o g™
T UTdedior Jelse hlrfe Heuld
TR TR hIOATES] HRA FRRA
I Yehed TR hell 3Tg 2
(A) 3-9Rd
(B) HERTSI
(C) Jshed W
(D) $-hid

(@)
®)
(c)
(d)

(1)
2)

(b)
(2)
3)

(c)
3)
(2)

(d)
(4)
(1)

18
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61. Which one of the following cities has | 61. WIeiicTIeR! IV TG § THRAG! HROGT
moved from colonial notions of ‘Frgara dgTad’ @ STIfaeR R
“pensioners’ paradise” to the Wﬁw‘ﬂﬂﬁﬁﬁ“fﬂ?ﬁaﬁﬂﬁ?ﬁ"%ﬂﬁ
globalisation driven “silicon valley AzEd SE 2
of India” ?

(A) T
(A) Hyderabad )
(B) HE
(B) Bengaluru
(C) qu
(C) Pune
(D) B
(D) Dehradun
62. WTCAdeh! HIVIAT IRV Hord: TS
62. Which view focuses on society as
BT JEen 3T1e ST e a=ieal el
fundamentally a “patriarchy in
Hrfor faegevss 3dl’ Fran g1l
which men dominate and oppress
ehdl ?
women” ?
o (A) SR GEAERT SiaK
(A) Post-structural feminism
(B) Feminist existentialism (B)
(C) Liberal-feminism (C) SERHAER] HHarw
(D) Radical-feminism (D) ST THteg
19 [P.T.O.



63.

64.

Match List I with List II and select
the correct answer from the codes
given below :

List I (Thinkers)
S.C. Dube
(b) S.C. Roy
(¢) D.N. Majumdar
(d) V. Elwin

List II (Tribes)
Khasa

(@)

(1)
(2)
3)
(4)
Codes :

(@)
(A) (4)
(B) )
© 2 B 1) @
O 1 @2 & @

In elementary structures of kinship,

Baiga
Munda

Kamar

(b)
3)
2)

(c)
(D
4)

(d)
(2)
(1)

the alliance is based upon :
(A) Rules of exogamy

(B) Positive marriage rules
(C) Negative marriage rules

(D) Generalized exchange

63.

64.

JUN - 14220/11—D
et I 37for et 11 el Seehr=a SISl

S[e3a 9 e feeiedl Hehdehlqd Ay
=g Haer
et 1 (faemEa)
b) TE H. W3
(€) I T "YAER
(d) = T
el I (ST

(@)

(1)

(2)

3)

(4) MR

Hehdieh :
(@)

(A) (4)

(B) 3)

< @2 & 1 @

O 1 @2 6 @

TGS MU TEa Il & HeeR

eid s/d ?

(A) wfgfamem frm

(B) foamem HehricHs o

(C) foarem @ras =™
(D) ¥M=iga fafa

EeIs|
EAll
el

(b)
3)
(2)

(c)
(1)
4)

(d)
(2)
(1)

20
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65. Oriental despotism is the feature | 65. dai@ fRgwER & BRI
of : NI BT
(A) Asiatic Mode of Production (A) STYEE SR Jgdl
(B) Feudal Mode of Production (B) TSTHIME! 3 dgdl
(C) Primitive Mode of Production (C) 3Tfed 3Icured dgdl
(D) Ancient Mode of Production D) Y= AR TGl
66. Who is the author of the book “The | gg “z 3= = 9eE A1E Teh’ A1 JEIRM
Brave New World of Work” ? ST B AR ?
(A) Anthony Giddens (A) et fire=g
(B) George Ritzer (B) wifsl frezr
(C) Ulrich Beck (C) 3T 3%
(D) Pierre Bourdieu D) fr g5t
67. Which economic syst'em'is based on 67 FUR i STee SR R qwEeR
market exchange principle ? MERE aEY 2
(A) Primitive economies (A) af seforaeen
(B) Modern economies B) snufiE e
(C) Rural economies (C) T syt
(D) Small economies D) T s
68. The Rights of Persons with N e . -
Disabilities Act in India was passed 68.  HRATIcT lqchq:“” S T TeRAe
in which year ? T =gl ¥a e <
(A) 2007 (A) 2007
(B) 2011 (B) 2011
(C) 2013 (C) 2013
(D) 2016 (D) 2016
21 [P.T.O.



69.

70.

Given below are two statements, one
is labelled as Assertion (A) and the
other as Reason (R) :

Assertion (A) : Family is unable
to provide care and support to
elderly.

Reason (R) : Family has shrunken
in size.

Select the correct answer from the
codes given below :

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

Both (A) and (R) are true but
(R) is not the correct explanation
of (A)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true
Match the List I with List II by
choosing the correct answer from the
codes given below :

List I (Books)
(@) Dynamics of Cultural Change

(B)

(b) Analysis of Social Change
(¢c) Africa in Social Change
(d) Asian Drama

List II (Authors)
(@) G. Myrdal
@) P.C. Lloyd
(z11) B. Malinowski
(tv) G. Wilson
Codes :

(@) (B)
A @ @@
B) @) @
(C) @) (@)
D) Gi) (o)

) ()
(1) ()
@) (@)
@) @
@) @

69.

70.

JUN - 14220/I1—D

el g faum fSefl omed. @il Tk
e (A) 318 71 SR faem wrm
(R) &%

YaIE (A) : TIRET JaT ST TER
SUAT FeadEdl TEHY 3R,

HRUT (R) : F2d SMHRA TeH e

@il HohdlshTdeh! sie Hohd Il

(A) (A) 3TfoT (R) Sr81 SIeR 3A7Rd 3Tfor
(R) § (A) ¥ 97T TIhI0 ..

(B) (A) 3Tfor (R) Sl SR&R 3Ted q01
(R) § (A) T 91 TR0 el

(C) (A) & SR 318 907 (R) I 31T
(D) (A) I 3¢ T (R) TR 3R,

(AW SN

e T AT 11 30 SireT 8mfor wred! feetesn
HohdiehMEd arg I ferer ¢

Tt 1 (Teh)
(@) SEAHFE AF Hoeerka o
(b) STHAfEm 3w TR =9
(¢) THI® 37 TRTA =
(d) TfEEE g

RICUN | RGGECED)
G) . fagta
(i) . Gt drks
(iii) s HAaEht
(iv) . faeaa
Tehdleh :

(@) ()

A @ @)
(B) Gv) @)
(C) @) (i)
(D) @) Gv)

() ()
@) (o)
@) (i)
@v) @)
@@ @)
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71.

Given below the two statements, one
is labelled as Assertion (A) and the
other as Reason (R) :

Assertion (A) : Maharashtra state
has the largest number of slum
dwellers in India.

71.

JUN - 14220/I1—D

el g faum fooiel! omed, Th™
Jfque (A) Falere mmww
(R) Tele 2.

gfaureqd (A) : 9-II{<'II<'IIQ'1 %HIHS‘{ddI(‘I
T ST Fatd SR S8 HeRIs

TS TR,

Reason (R) : It has the largest FR (R) Fqqua Tafd S T
number of urban dwellers. AHEE TR,
Select the correct answer from the @A) oo SondieRT=a TR 3TF I
codes given below : @
(A) Both (A) and (R) are true and HHdiE :
(R) is the correct explanation ’
£ (A (A) ST (A) 07 (R) B 37 3fed 3
of (A) R) ¥ (A) = A9 TR 3R
(B) Both (A) and (R) are true but
(R) is not the correct (B) ST (A) 37t (R)% e
explanation of (A) wg R) § (A) 3 Zh_rq TR
(C) (A) is true, but (R) is false T 5 o 3
(D) (A) is false, but (R) is true € (;‘1*_)% F e WY (R) & FH
72. Which  Anthropologist  has D) (A) & =% 38 W (R) ¥ T=h
differentiated between folk 3R,
community and urban community ? 79 AF TR arfor Fl%’?f TR Eﬁ"l
(A) Robert Redfield 3:3% ‘«I;{Gh IO AR
(B) Radcliffe-Brown '
(A) T2 Ysfres
(C) Bronislaw Malinowski I e p—
(D) Claude Levi-Strauss (C) ST S
73. Which concept of Darwin suggests (D) Fie -
that tai ial ch teristi
ot i oo s | . st e st .
of groups in the natural environ- Tt = wwcqmljﬁ%rqm'
ment ? B ?
(A) Human Ecology (A) AT TR
(B) Natural Selection (B) “=fifew fars
(C) Human Environment (C) AHE! gAfaTo
(D) Existential Dualism (D) i@ =&
23 [P.T.O.



74.

75.

76.

Gidden’s structuration theory, is the

theory of the relationship between :
(A) Structure and Agency

(B) Agency and Structure

(C) Actors and Agency

(D) Culture and System

India gets maximum share of her
GDP from which of the following

sectors of economy ?
(A) Agriculture

(B) Industry

(C) Service

(D) All share equally

In which of his books Foucault
uses the term ‘gaze’ as a form of

knowledge ?

(A) The Birth of the Clinic
(B) Madness and Civilization
(C) Discipline and Punish

(D) The History of Sexuality

74.

75.

76.

JUN - 14220/I1—D

fre=q ar=1 dx=reu fagema =

.......................

(A) T &=
(B) S&HIM &
(C) a1 &=

(D) 9d & FHHE THONA

ekl ATSAT RVl TAd o [T

JHR RUA ‘TEerd TR g OE

AT ?

(A) T =4 3w g foraafrr
(B) A T fafeamagem
(C) fefawim sfe wiw

(D) 7 &= 3w Tergatferet

24



77.

78.

79.

80.

The productive organization of land,

in recent times, does not consist of

(A) Family labour
(B) Jajmani system
(C) Hired labour
(D) Tenancy

Tebhaga movement was mainly

aimed at :
(A) Social reform

(B) Revolutionary transformation of

the whole society
(C) Reduction of land taxes
(D) Fair price for the crops
Who was of the opinion that
‘revolutions are locomotives of
history’ ?
(A) E. Kant
(B) K. Marx
(C) G.W.E. Hegel
(D) F. Engels
Which of the following forms is not

an emerging form of family ?
(A) Single parent families
(B) Stem families

(C) Reconstituted families
(D) Childless families

77.

78.

79.

80.

JUN - 14220/I1—D

oo fa * = o
SHA=A scdliqd Hbld"ll-l*ﬁ SH|len S|

=1 9HEY B

(A) Feada HHeE
(B) SISTHMT SHerEeq

(C) W=t =
(D) Fe

TN Fesaesi=l THE 3aaY

Bl

(A) HAfSTeh GO

(B) YUl GHSTE Shifdedt gRerd
(C) TqHA ShaTd

(D) fuemmEr arerEt forma

TTeTeTdeh! U™ T 3T 3T i Shidl

& faerE™ Tee SR 3T ?
(A) 3. HIE

(B) . A

(C) Sft. == 3. T

D) Th. e

EelTerdeh! Sheardl hIol YR eaM

IS AU GhR AT ?

(A) THA Tk FH

(B) & Fgd Fed
(C) gRfad Fpea

~
[

R e

(D) 3I9H

25
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81.

82.

83.

According to whom “The spread of
mass media and mass entertainment
cause the public sphere to become
largely sham” ?

(A) Louis Althusser

(B) Jurgen Habermas

(C) John Thompson

(D) Daniel Learner

Which state has maximum area
under forests ?

(A) Madhya Pradesh

(B) Odisha

(C) Andhra Pradesh

(D) Chhattisgarh

Which one of the following is true
about the open-ended questions ?

(A)

Difficulty in raising an issue

(B)

Not easy to get free response
(C) Simple and easy to analyze the
responses

(D) Fixed structure for respondents

to reply

81.

82.

83.

JUN - 14220/I1—D

“SYER greEd SS9 HARSHTA

ThellaT s ATaSieh  STIHTT @I o
3. o9 faum wvi okt ?

(A) TEH TTIE

(B) T geReEE

(C) S ofrqed

(D) SFEe @

FHIOA T Faifeeh S &ThD
e ?

(A) HETHT

(B) effeem

(C) gwRN

(D) BHTS

G YA Teerdeh! hiord faem

R 3 ?

(A) 97 foemuames Aot sre=m

(B) e gfqdre fHesfaul steme smd

(C) wfcreTe forgeison shivare |y 37ifor
¥

(D) WicHrGeRT=A1 ST fHeifta =
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84.

85.

‘The field of sports is often dominated
by the males’. This shows ............ .

(A)

There is connection between

sports and patriarchy

(B)

Women are weaker sports-

persons

(C)

There is connection between

sports and politics

(D)

Men are better sportspersons

Structural forms as analysed by A.R.

Radcliffe-Brown are .................... }

(A) Abstract forms of social
structure
(B) Concrete forms of social

structure

(&)

Integrative forms of social

structure

JUN - 14220/I1—D

84. 'shiSIEN ¥ WEH! JRWH o= SfHei

85.

(A) hreras o fage Jr=amd e
Ty 3Ted

(B) & wHcpad Eowlg 3R

(C) HISI&S 01 TSRl I T
R

(D) T&9 ¢ 3k =il ©arg 3R

T, 3R, TeFA SIS T T St

GLEAcHS ®9 BUS

(A) ISR HEH= 3T &9

(B) WIS §=-< i &9

(C) TMISeh T TehlfcHeh &9

(D) Functional forms of social - v en .
(D) "SR 9=Hd hdlcHeh ©9
structure
86. What was India’s rank in the 86. 2018 HeX WA fermeafereae
Gender Related Development Index o fohael et ?
in 2018 ?
(A) 125
(A) 125
(B) 130
(B) 130
(C) 131 (C) 131
D) 134 (D) 134
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87.

88.

89.

Which among the following is a
dominant caste ?

(A) Vokkaliga
(B) Kansara
(C) Banjara
(D) Matang

Match List I with List II and mark
the correct answer from the codes
given below :

List I
(@) Preparation of code sheet
(b) Retesting the codified data
(¢) Preparation of code book
(d) Testing of code book
List II
(i) Stage I
(i) Stage II
(iii) Stage III
(tv) Stage IV
Codes :

(@) (b)
A @ @
(B) (i) (v)
(C) G(v) i)
D) @Gi) (o)

) ()
@) (v)
@@ @
@ @
@ @)

‘McDonaldization’ term is coined

by :

(A) Giddens
(B) Sassen
(C) Ritzer

(D) Coser

87.

88.

89.

JUN - 14220/I1—D

Teeush! Frel S <hiot 2
(A) SrERIfE

(B) =&

(C) oI

(D) #wT

ot 1 wefiel qega Al 11 #efiel
TSR S et feetedn v Sere

o

Hohdlchlq\"i g fae <

I |

(@) Hohd T TIN HL]

N

(b) Tohdiha AT AN HT0)
() Hohd J&ieh TIR 0!
(d) Tohd &I =M=Ul IO

et 11
@) e 1
(i) e 11
(i) staeen II1
(v) ITE IV
Hehdieh :

(@ ) (© (@)
A @& @) G Go)
(B) Gii) Gv) @) @)
(C) G(v) @) ) @)
D) Gi) Gv) @) G@)

H%SI"I("SM%?I"I _‘69[ {-Isll

it fomfor et

(A) fred
(B) WA
(C) fegr
(D) =iER
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90. Habitusis not ...cccceeeeueeeneen.. )

91.

92.

93.

(A) Structured
(B) Durable

(C) Permanent
(D) Inculcated

In which year was ‘The Protection
of Women from Domestic Violence

Act’ implemented in India ?
(A) 2003
(B) 2005
(C) 2006
(D) 2011

Who popularized the phrase
“Tragedy of Commons” ?

(A) Garret Hardin
(B) Thomas Kuhn
(C) Jean Baudrillard
(D) John Thompson

Which one of the following social
groups is not experiencing the state

of social exclusion ?
(A) Indigenous people
(B) The poor

(C) Gated communities

(D) The homeless

90.

91.

92.

93.

JUN - 14220/11—D
(A) Wfad
(B) feots

(C) <hTIH

(D) YA 3Ha

IR ShI0TeT TS I eh TERERIARA

igetre G&T0T SHevararea TferfTam =i

AN Shedl el ?

(A) 2003
(B) 2005
(C) 2006
(D) 2011

‘ISl ST HIFH' B ISR I
ThIYT Shell ?

(A) Mz wfeq
(B) o9 ped
(C) S wifgen

(D) S giYEd

WCATCTIh! SRV ATHTTSTh THE |

afsfdd ergyed - 2
(A) gafrardt e
(B) & ek

(C) W-wifera ag
(D) &=
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94.

95.

96.

According to Weber which of the
following is the type of rational-legal
Authority ?

(A) Feudalism

(B) Bureaucracy

(C) Autocracy

(D) Slavery

Structured interview is used for :
(A) Life History

(B) Large Scale Data Collection
(C) Analysis of Images

(D) Creation of new theory and

method

Which one of the following is not a

characteristic of survey ?

(A) It is based on a representative

sample of a population.

(B) It is based on data directly

sought from the respondents.

(®)

It is concerned with more

general and abstract problems.

(D) It covers large number of
respondents compared with

other methods

94.

95.

96.

JUN - 14220/11—D
AT Hd dlfcheh RTIRYMN STTERR=

TCAeUeh! IVl JHR T ?
(A) HISTHRIED

(B) Al

(C) T &=

(D) TeERRT

TR AT Bl hIMETS! YR STt
S| ?

(A) Sfteq gfae™

(B) HISdl YHIONG Hifeds Hehetd

(C) wfaura oo

(D) 7o fagra enfor ggdi=n fAfdd

ETTeAdeht hIvTd 9o &Tura afgrses

e ?

(A) drREed=a gifdfafees  TH=amer
IMYRAA 3T

(B) gfqdgesieed el fHesfaeren

Hfgdier YRS 3T

(C) FTTHRYT ST 3T Fe=ient Haferd
3

(D) TR IGHARN Jarl Tl Hiodl H&H

gfIGeR T AT
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97.

98.

Which of the following is the least
developed welfare state ?

(A) Sweden

(B) USA

(C) Finland

(D) France

Who coined the term ‘mores’ to refer
to norms that are widely observed
and have great moral significance ?

(A) Pierre Bourdieu

97.

98.

JUN - 14220/I1—D

o o

EEd

EATeTUehT ShTUTdT ST Halld Al d

HEATH T 3R ?
(A) @i

(B) g.wa.u.

(C) frere

(D) ®r ™

TS YHUER Yefad  STHO=a1  37fur
Hevar=] Hifdde I "ewid ‘ rehidl’
1 g Ay sRioft shell ?

(A) fot 9
(B) W.G. Sumner ® == S T
(C) C.H. Cooley © @ = T
99 '(I]‘)li MSaX o C t of Indi (D) 9
. e Supreme Court of India )
invalidatZd a part of Section 377 of 99 W o= w NUSIEILE
the IPC decriminalizing ? G 377 STt Jre A S
@ Atompt b0 suieide | T \ Iq'\l;‘é'llilchwl 53 9
(B) Prostitution (A) SHEHET FAT
(C) Homosexuality (B) Sl SRR
(D) Human trafficking (C) Wi
100. ‘Interpretivism’ is the position (D) AT T
1+ SO : 100. Sr=raneferg & ffert 3T%:
(A) Epistemological (A) FEHHERTS
(B) Theoretical (B) ¥eiferes
(C) Ontological (C) HAmHHERIS
(D) Methodological (D) TR
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ROUGH WORK
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